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. It is mandatory to fill one option for each question.

. All questions carry equal marks.

. Only ene answer is to be given for each question. I[f more than

one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is mside this Question Booklet. When you
are directed to open the Question Booklet, take out the Answer Sheet
and fill in the particulars carefully with Blue Ball Point Pen only.

5. Please comrectly fill your Roll Number in OMR Answer Sheet.
Candidate will themself be responsible for filling wrong Roll No.

6. 1/3 part of the mark(s) of each guestion will be deducted
for each wrong answer. A wrong answer means an incormrect
answer or more than one answers for any question.

7. Each guestion has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
corvect smswer on the Answer Sheet using BLUE BALL POINT PEN.

8. If you are not attempting a question then you have to darken
the circle ‘5”. If none of the five circles is darkened,
one third (1/3) part of the marks of question shall be deducted.

9.* After solving guestion paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

10. A candidate who has not darkened any of the five circles
in more than 10% questions shall be disqualified.

11. ¥ there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

12. Mobile Phone or any other electronic gadget in the examination
hall is strictly prohibited. A candidate found with any of such
objectionab le material with him/h er will be strictly dealt asper rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, FLR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted under Rajasthan Public Examination (Measures for

Prevention of Unfair Means in Recruitment) Act, 2022 &

any other laws applicable and Commission’s Rules-

Regulations. Commission may also debar him/her permanently

N
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2
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from all future examinations.
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1y Malleus-

Lacrimal gland is related to which

organ ofthe body ?
1) Ear (@) ‘Téngué
-3 . Eye % Nose

{5 Question notattempted

-

Tn which organ, Hemopoiesis occurs ?
(1) _Heart.

(20 Kidney

(3) Bone-marrow-

4) Lungs

) Question not attempted

Schizophrenia was previously kngwn
as--

(1) Dementia pugilistica °
(2) .Dementia praecox
{8)~ Melanchelia -~ ~ -
(4> Roman fever *
() Question not dttempted

s

Which hormone can exacerbate the
psychotic symptom in
schizophrenia ?

(1) Dopamine (2) Estragon
(8 Ozxytocin (4) Cortisol
(B) ‘Question not attempted

‘The pathway that involved in
modulation of anxiety response is :
(1) 'GABAergic

@) Dopaminergic

3) ‘Glutaminergic

(4) Noradrenergic

(®) Question not attempted

‘What is the first line of treatment
in anxiety disorder?

(1) TConventional Medicine

(@) Cognitive Behavioural Therapy
(3) Occupational Therapy

(4) Yoga Therapy

() ‘Question not attempted

Select the one which do. not belong
to the group.

Malleus, Stapes, Rectus, Incus
@) Stapes ™
(3) Rectus {4) Incus

*H) Question not attempted
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12.

Which of the following is a
characteristic of major depression ?

(1) Isolated and  recurrent
episodes of depressive
symptoms lasting for 5 days

(2) Isolated and  recurrent
episodes of depfessive
symptoms lasting for 10 days

(3 Isolated and  recurrent
episodes of  depressive
symptoms lasting for 8 days

(4) Isolated and.  recurrent
episodes of ~ deplesswe

symptoms lasting for 14 days
Question not attempted

®
In Anxiety disorder, downregulation
of GARA is found in which part of
the brain ?

(1) Frontal lobe -

(2) Parietal lobe

(3) Occipital lobe

(4) Temporal lobe

() Questlon not attempted

Which ofthe following is-a common

symptom of Carpal Tunnel

Byndromeé (CTS) ?

(I) Knsee pain

(2) Numbness and tingling in thé
band and fingers

(3) ‘Shoulder stiffness

@ TLower back pain

6)

Question not attempted
Cardiac output and peripheral
resistance determines our :

(1) Brain activities
(2 Blood pressure
(B) Immunity
(4) Respiration
(B) Question not attempted
Which yoga practice is to be avoided
for schizophrenia patients ?
(I) Asana {2) Pranagama
3 Kriyva (4) Dhyana
(5) Question not attempted
a
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13.

{14,

i 15.

- 18.

18.

 19.

Dysthymiarefersto

(1) Mild form of depression

(2) Mild form of anxiety

(3) Severeschizophrenia

(4 Hyperarousal state

{6) Question not attempted
Which. of the following is mot a
symptom of anxiety disorder ?

(1) Restlessness

(2) .Fatigue

(3) Hyper arousal

(4 Blunted emotion .

(6) *Question not attempted
Which of the following is a
degenerative joint disease ?

(1) Osteoarthritis

(2) Rheumatoid arthritis

(3) Psoriatic arthritis

(4) Reactive arthritis

(5) Question not attempted
‘Which of the following disease
involves “loss of alveolar-to-
capillary surface.area” ?

{1) COPD

(2) Asthma

(3) Hyperinflation

(4) Emphysema

(B5) Question not attempted
Lower back pain lasting upto 6
weeks is known as

(1) Acute lower backpain

(2) Subacute lower back pain

(3) Chronic lower back: pain

4) Transient lower back pain

(B) Question not attempted
‘Which of the following is not a risk
factor for heart disease ?

(1) High low-density lipoprotein
(2) High high-density lipoprotein
(3) High triglycerides

4) High total cholesterol

() ‘Question not attempted

Coryza is a disorder rvelated to :
(1) Respiratory system

(2) Circulatory system

(3) Digestive system

(4) Nervous system

{5} ‘Question not attempted.
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21.

22,

Which of the following is true
about type 2 diabetes mellitus ?

() It occurs due to eating sugar.
(2) It is an autoimmune disease.
(3) It is duetoinsulin resistance.
(4 TNoneofthese

(6) Question not attempted.

A progressive degeneration of
arterial -walls, associated with
hypertension resultsinto :

(1) Arteriosclerosis

(2) Aneurysm

(3) Var icosed Veins

(4) Atheroma

(B) Question not attempted
Intention tremors are found in
which of the following conditions ?
(1) Multiple Sclerosis

(2) "Parkinson’s Disease

(3) Cerebral Ataxia -~

(4) Stroke

(5) Question not attempted

23. Impaired renin-angiotensin systems

24.

is related to :

{1) Irritable bowel disease

(@) Multiple Sclerosis

(3) Hypertension

{49 Rheumatoid arthritis

() ‘Question not attempted

What is Tachycardia ?

{1) Rapid heart rater{around 80
beats per minute)

&) Heart rate  that is

substantially slower than

normal (lessthan 60 beats per

minute)

Heart rate that s

substantially slower than

normal {around 40 beats per

minute)

Rapid heart rate {over 100

beats per minute)

Question not attempted
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25. Ta99 =g W37 F IIg9UR WY H § 25, What is the definition. of health
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(1) 1960 (@) 1948
@) 1975 ) 1985
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29.

according to ‘the World Health

Organization ? ~

(1) Absence of diseases only

(&) Physical well-being only

{3) Complete state. of physical,
mental and social well-being

(4) Ability to perform daily tasks
without illness

(5) Question not attempted

In which year World Health
Organization defined health ?

(1) 1960 (2) 1948

B 1975 (49 1985

{B) <Question not attempted

Which yoga asana is commonly:

recommended to improve digestive
organs and effective in .removing
excessive gas and constipation ?

(Iy Adho Mukha Svanasana

2) ©Savasana

(3) Virabhadrasana

@) Supta Pavanamuktasana

B) Question not attempted

Which type of bone cancerprimarily
affects the cartilage cells ? EjizmE]

(1) Osteosarcoma I%I ﬁ'.F%

(2) Chondrosarcoma

(3) Ewing sarcoma

(4 Multiplemyeloma .

B) ‘Question not attempted

“‘Which of the following isa negative
symptom of Schizophrenia ?
(1) Delusion
(2) Catatonia
{3) Blunted emoctions
(4 Hallucination
(B) Question not attempted
490
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32.

33.

34.

-

deficiency or absence of ingulin in

Type- -I diabetes 2

(1) .Overproduction ofinsulin

(2) Destruction of p-islet cells of
the pancreas

(3 Tncréased glicose production:

4 High carbohydrate diet

®

Question not attempted
‘Which lung function ‘test is
commonly used to diagnose chronic
obstructive pulmonary disease ?

() ChestX-ray

(@) Cytometry

(B) CT scan

(4) Spirometry

(B) Question not attempted

Which disorder involves fear of fwo
or more situations such. as using
public transportation or being in
open spaces ?

(1) Social anxiety disorder

{2) ©Specific phobia

(3) Agoraphobia

(4) Separation anxietydisorder
(5) 'Question not attempted,

‘What accumulates in the. funica
vaginalis in hydrocele condition ?
Extracellular fluid

Pus

Berous fluid

Interstitial fluid

Question not attempted.

(]
[6))
@
®)

Which of the following is @ sign of
liver disease ? '
(1) dJaundice

(@) Increased urination

3) Decreased blood pressure

(4) Elevated heart rate

{5) Question not attémpted
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36.

3.

38.

39.

beta cells in Type-I diabetes ?

(I) Overproduction of insulin

(2) Lackof physical activity

(3) Excessive protein intake

(4) Viral infections or autoimmune
disorders

6) Question not attempted

Which of the following is an

example of @ compulsion in

obsessive compulsive disorder?

(1) Persistent unwanted-thoughts

(2) Repetitive behaviours or
mental acts in response-to an
obsessive thought

(3) Intrusive images

4 Muscle tension

(5) Question not attempted

‘What are the two major types of
tissues in the pancreas ?

(1) Alpha cells and beta cells

(2) Acini-and Islets of Liangerhans
(3) Delta cells and PP cells

) Insulin and Glucagon

(B) Question not atteimpted

Which dietary component the
individuals with diabctes should
monitor closely to help to. control
blood sugar levels ?

{1) Carbohydrates

(2) Proteins

3) Fats

(4) Vitamins *

5) Question not attempted-

What condition occurs when
plasma calcium ion concentrations
drop fo about 50% below normal ?
(1) Hypercalcemia

{2) Tetany

(3) Muscle relaxation

(4 Increased cardiac output

(5) Question not attempted
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40. wairaEcafroa vl 2 i 40. Liabyrmthitis -is -a disorder related
o e @ ww P

‘ (h Eye (2) Ear
@) wEE @4 AFRY (3) Lymph (4) Stomach
(6) IIguiaTH

(6) Question not attem;gted
41. IRFag W T Tea =g o 9

41. Which neurctransmitter’s secretion

Wﬁamﬁﬁf% ! is affected in Parkinson’s disease ?
> (1) Serotonin

@ S ® Dopamine

@) =T (GABA) (3) GABA

(4 TR (4) Acetylcholine

(}B) Question not attempted

42. Which bacterium is commonly
‘ associated with chronic gastritis ?

) o o (1) Escherichia coli

- (1) TS % (2) Staphylococcus aureus

HEN HIE -k R AP 2N IS RS P RSl I Tt S 20En 3 ETUEMIEE AR aper e M masiz e,

3
:
:

- @ Woiseinrsg i ; (3) Helicobacter pylori
- (3) EreTeh SR IISAIRT i (4) Streptococcuspneimoniae

: o) EemmaEtE 3 (6) Question not attempted

©) ENLE : 43. Which ofthese hatha yoga practices
43. T A IF 1 UM UMW AEE P are helpful in the yogic

2 T T eI 2 7 ‘management of migraine ?
gﬁﬁ'@‘ (1) Neti and Moorcha Pranayama

r O HasElEE G2 | (9 Kunjaland Plavini
@) o A eTiert ' (3 Neti and Kunjal
@) HasliEHea |, i (4) Shirshasana -
@ et - (6) Question not attempted.

0 B

G FFEEIE A

. Which disorder is. not. related to
. PHahErirt ey prwlay?

j 4. o T{f%}? (I) Hypersecretion of anterior

(1) sETregedsrsifaamn

T bee

pituitary
{2) I TaegelS1sTeTam (2) Hyposecretion of anterior
Q) =nisiesRitEg pituitary F

{38) Diabetes insipidus
(4) Graves disease. . '
(®) Question not attermpted

E 4) =TI i
(6) STgaRa ¥

R TR YR ST R T STPTIRR AT RE PP S
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45. TH I ST I FIT AT S TR T Tl Hﬁ 45. Which of the following staternents

46.

47.

27
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g S B |

(i) o8 HTaAIcHS JTdger del ST 2]

(i) Rﬂﬁ@tﬁﬁmmm
T TERITR L

(iv) TE IR ASSH Igr5wia |

2T MO i e s

i
E

(v) TEHe, a:tfaaﬂwﬁa&e.a%aaﬁm H

FrEgen  Tog sl & 4
e
L (), () 3R (@)
@) 5 (i) 3 (iv)
© 1), ?ﬂ?‘(u(iv)
@ (), (iv) ()
() A IH

T J =, ﬁlﬂq%aﬁmwaﬁtﬁlﬁq '

% Sa TS e % FIET AR 7
(1) THEEsSTsH
@ it gs%%
@ TRt
@ TS

() TR

TAPT JATATI R 2

(i) wETEE

() e

(iii) ST I
(Gv) S IeIEE

) e

e

(1) =Hae (i) R(v)
(2 = () 3 ([iv)
® @), (i) ()

@ @D, (i) IR (@)

N B T NN TN RS W O T .

46.

47.

about Nauli are not correct 2

@ It creates balance  in
endocrine systems related
functions.

i) It creates emotional
imbalances.

(i) It is related most effectively

to manipur chakra.

(iv) It creates coolness in the
body.

(v I is good for imbalances
related  to constipation,
indigestion and acidity.

Options:

(1) @), (i) and (jii) only

@ (i) and (iv) only

@ @, @) and (v)

@ (i, (v and ()

() Question not attempted.

The excess intake -of protein and
improper digestion of protein
results in i ’
(1) Rheumatoid arthritis

{2) Osteoarthritis

13) Acute.arthritis

@ Gout

B) Question not attempted

The most effective yogic practices
for the managemeént of Thyroid
disease are :

(i) Sarvangasana

(i) Moolbandh

(iii) Sheetkaari Pranayam

(iv) UjjayiPranayam

*(v) Bhadrasana

Options:

(D (i) and (v)only

(@ (@ and (iv) only

@ (@), (i) and (v) -
@ (1), (iii) and (iv)

(5) Question not attempted

1
|
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48,

49.

j 50.

. I W BHA G B BT T U

52,

53.

= & @+ o Rt G A T
(varicose veins) % TSEH H THET S ?
(1) Peemmm Q) divgmEa

(3) waiTEH (4) TEEEA

(5) TG A

Sttt o fepmes fore aweEh i 8 ¢
(1) =% g I % foe

(2) T wremi Uil % g

(3 F% 3 g gt Wi g & forg
4) THIBETE

(6) SigARaIA
fr=fafea § @ =9 o1 TRsRliw %
TN A I HRE § 7

(1) oo 8 H TR T sy
(2) S & oI T Y

(8) T & T WIURIFR T STSRIY

(4) WiETh & A WUWIR 1 S0

(5)  ITRIRG T

(gredrerrzafieg) wisean w1 gl @ %

SR CT R E T R NI [ 1 -

(1) feshE (2) AR-ufETeH

(3 urpiFEs () SsEmRm

(5) ITITIRG I

= ¥ w9 o A BmEd 9w afw

RrepE® g ?

(a) HEH

(c) T !

e i

(1) (a), () !

2) (@), ®), © g

(3) e (a) 3K (o) i

(4) - (b) K (c) |
|
|
|
|
|

(b) A

(5) 3T ST

&S YR % AR, T AHH & B
SR 2T Y AR R I T T 7
2)

(4) Wi

() 9

(3) !
(5) rgaia T

11

48,

49.

50.

51.

92,

53.

Which of the following yogic
practice is effective in managing
varicose veins ?

(1) Trikonasana

(2) Virabhadrasana

(3) Sarvangasana

(4) Garudasana

(6) Question not attempted

Sheetli Pranayam is not effective for

(1) XKapha-Type diseases

(2) Pitta-Type diseases

(3) Both Kapha-Type .diseases
and Pitta-Type diseases

(4) None of these

(5) Question not attempted

Which of the following is a

contributing factor for hydrocele ?

(1) Blockage of prana (vital energy)
in the reproductive region

(2) Blockage of prana (vital energy)
in the abdominal region

(3) Blockage of prana (vital
energy) in the heart region

(4) Blockage of prana (vital
energy) in the brain region

(5) Question not attempted

The hormone which increases the
blood sugar level for counteracting
the hypoglycemic action of insulin is —
(1) Epinephrine

(2) Nor-adrenaline

(3) Thyroxin

(4) Vasopressin

(5) Question not attempted

Which of the following yogic practices
are helpful in improving eye sight ?
(a) Trataka (b) Neti

() Amroli

Options :

(L) (a), (b)

2) (a), (b), (o)

(3) (a) and (c) only

(4) (b) and (c) only

(5) Question not attempted
According to Hatha Pradipika,
which practice is helpful in the
management of diseases occuring
from all three doshas ?

(1) Bhramari (2) Suryabhedi
(3) Moorcha (4) Bhastrika
(5) Question not attempted



54.

55.

56.

57.

58.

T ¥ BF & A B sy %
TEYT F U TR R AR E 7

(1) Hefifmnr () S bR
(3) welfrr (@) uiwwmm
(5) TG SRA

3 IR % Fger § WA g A A :
() weEm () Rl
(iii) weS (iv) fRremsia
(v)

Tererea:

Q) = (), (i) T @)

@ FE (D), (i) W )

(3) A (@), (iv) W (v)

(4) A (i), (i) W (v)

(5) 3G T

fr=tafean § @ w9 @ wwr fem |
MR ?

(L) W

(8) ®M

(5) TG A
@ T femiiie frad aafRm g 7
(1) Aty

(2) TEARE

(8) e

(4) TS IR

(5) TG T ;
() TR () T
(i) T gt (iv) HfRaeRt

(v) &N

e

(1) = @), (i) T qv)

2 a4 @), (i) W ()

() ¥ (iil), (iv) T (V)

(4) e (i), (i) W (v)

(5) STTARA T

(2) STH
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54,

55.

56.

87.

58.

Which yogic practice is used to
manage sinusitis ?

(1) Nauli Kriya

(2) Jal Neti Kriya

(83) Khechari Kriya

(4) Moorcha Pranayama

(5) Question not attempted

Diseases caused due to imbalance
of Apaan vayu in body :

@ Colitis (ii) Hepatitis
@(iii) Constipation (iv) Tonsilitis
(v) Dysentery

Options :

(1) @), (i) and (iv) only

(2) (1), (iii) and (v) only

(3) (i), (iv) and (v) only

(4) (i), (i) and (v} only

(6) Question not attempted
Which of the following Prana is
involved in deglutition (Swallowing

of the food) ?
(1) Prana (2) Udana
(3) Samana (4 Vyana

(5) Question not attempted

‘Swan Neck Deformity’ is seen in

(1) Osteoarthritis

(2) Spondylosis

(3) Gout

(49 Rheumatoid arthritis
(5) Question not attempted

Most effective yoga practices for a
cardiac patient are :

(i) Surya Namaskar

(ii) Nadi Shodhan

(ii1) Yoga Nidra

(iv) Bhastrika

(v) Dhyaan

Options:

(1) @), (ii) and (iv) only

(2) (i), (iii) and (iv) only

(3) (1), (iv) and (v} only

(4) (i), (iii) and (v) only

(5) Question not attempted
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60.

61.

62.
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89.

60.

61.

&
o

The didphragm is innervated by

(1) Vagus nerve

(2) Inter costal nerve

(3) Phrenic nerve

(4 All ofthese

B) Question not attempted

Out of the following statements,

which are correct statements about

Shanmulkhi Mudra?

(i Tt is helpfil iAi Ear, Nose,
Throat related infections.

(i) It is helpful in management of
stomach worm infestation.

(i) It is helpful in management of
Vertigo. i

(iv) It creates

Pratyahara.

(v) People with mental depression
should practice it daily.

Options :

@O @, (i) and (iii) only

(2 (i), (iii) and (iv) only

3 ), (i), (iv) and (v) only’

@ (@, Gil) and Gv) only

(6) ‘Question not attempted

Which of these is incorrect about

Uddijan Bandha ?

(1) It helps in better functioning
of adrenal glands.

(2) It is very beneficial for people
with.glaucoma.

6))

@

stiate of

the

It most effectively impacts the
manipura chakra.

It is helpful in management of
stomach  worm  related
infestation.

(5) Question not attempted

The condition Beriberi’ is caused
by the deficiency of

() VitaminB, (2) VitaminA
@) Vitamin K (4) VitaminB,
6) Question not attempted -

a
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- 63.
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65.

66.

;1 67.

Alimentary glandular secretion is

increased by

(1) Sympathetic activity

(2) Parasympathetic activity’

(3) Both Sympathetic .activity
and Parasympathetic activity

@) Noneofthess -+

(B) Question nof.attempted

QOut of below mentioned statements

which are correct ?

(1) Acute, Eplsodlc and Chronic
are types of stress.

(2) Eustress and Distress are
types of stressors.

{3) ©Stress can be positive or

" negative dépending on life

situation.

(4 All ofthese

(6) Question not attempted

The drug which causes release of

nor- epmephune from its ‘storage

vesicles in the sympathetic nerve

endings is

(1) Ephedrine “9}5;._

(2) Tyramine  [mjxsH

(3) Amphetamine

4y All ofthess

{5) ‘Question not attempted

Out of “these how many are

behavioural symptoms.of siress ?

() Withdrawal

(i) ’Sleeping difficulties

(iil) Exhaustion

Options-:

1) @@, (i) and (iii)

(2) (ii).and (iii) only

(3 (@ only

(9 @) only

(5) ‘Question not attempted
According to Yoga Vashishtha,
depression is-afan

1) Aadhija Vyadhi

(2 Anadhija Vyadhi

(3) Both #Aadhija Vyadhi and
Anadhija Vyadhi
{4 None ofthese
() <Question not attempted
40




68.

69.

70.

1.

72.

73.
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68.

69.

70.

71.

T72.

73.

The neurotransmitter -which s
associated with production of sleep
is—
(1) Melatonin +(2) .Arginine
{3) Serotonin (4) Dopamine
{5) Question noft attémpted
Which of the following :is NOT &
typical response to stress ?
{1) Increased heart rate
{2) Elevated blood pressure
(8) Decreased cortisol levels
(9 Enhanced mental alertness
(6) Question not attempted
Which hormone is primarily
responsible for the body’s “fight or
flight” response ?
(1) Insulin (2) Adrenaline
(8) Melatonin (4) Oxytocin
(5) Question not attempted
Which. of the following are stages of
grief identified by Elizabeth
Kubler-Ross ?
(A) Denial (B) Anger
(© Regrst (D) Bargaining
(&) Happiness
O @A,®, 0 @ ®),0,D0D)
@ @0, 0O @ @), ®) O
() ‘Question not attempted:
The -concept ‘of Pratipakshbhavanam’
is discussed in.:
(1) Gherand Sambhita
(@ HathagogaPradipika
(3) Hatha Ratnavali
(4) Nonse ofthese
(5) Question not attempted
Which type of stress is associated
with positive life changes such as
getting tharried or starting a new
job ?
(1) Eustress
(2) Distress
(8) Chronic stress
(4) Acute stress
5) Question not attempted-

=]




74. TRESE TS 5 AR W AR WIT | 74.  According to Patanjal-Yoga Sutras

75.

76.

1.

78.
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78.

what are the main reasons. for all
mental illness or suffering ?

() Ahimsa

(2 Alabdhabhoomikatva,

(3) Anmavastitattva

4 Kleshas

®) Question not attemptéd

According to Swatmarama, which
yogic kriya is the best one ?

(1) Tratak (2) Basti

(3) Neti 4) Nauli

{5) Question not-attempted

The Manomaya Kosha is & part of
whichSharira? -

(1) SthulaSharira

(2) Sukshma Sharira

(8) 'Karana Sharira

(49 None ofthese

(6) Question not attempted

According to Sage Patanjali, Dukh,
Daurmansya, Angamsjayatva,
Shvasa and Prashvasa are mental
turbulences or mental issues ‘which
are termed as :

(1) Chitta Vikshepa Sahabuva

(2) Kleshas

(3) Vrittis-

(4) Antarayas

(6) Question not-attempted

Stress resilience is :

(1) Ability to face the 'stress in
different way

(2) Failure of the mental
mechanisms to cope with the
stress

(3) Ability to come back from
stress

@) Vulnerability t6 stress

(6) ‘Question not attempted

49




79. ﬁqmqﬁgx@aa@mﬁmﬁmﬁ 79. An  imbalance inl. . gvhich
e re neurotransmitier is linked to
RERE kS BT, mental disorders such as

Teaiiey, sréum 2REfue smwaza iy, | Schizophrenia, Mood disorders,
Gre—gifers U Teawidy, g | Panic disorders, Attention Deficit

i Hyperactive  Disorder,” Post-
S foud FeaiEt U geTEIe ¢ Traimatic.  Stress  Disorder;
M FRebE (2) SHErE : Obsessive Compulsive Disorder ?

@) ‘Serctonin )] Dopamme
3) Glutamate (4) GABA

3 weme: (@) GABA

Ee 2 E10| 1) 1IN 18 I

(G) FFArRa T (6) Question not attempted
80. Frifag ¥ 3 29 o1 arss weg § 50- Which of the follgvivmg is Nf(;T a
. oo ’ ’ - : soclo-environment ctor
TFER & FCH AT i contributing to "mental health
Taiterefia BT e R ? problems ¥ =
- R : (1) Cultural influence
(L) WGPl T ] (?) Dissatisfaction with a’job or
(@) st fer & v relationship
: . : (3) Poor parenting
G2} T TeH-9 H (4) Lowself-esteem
(: e STTE-9E EEE 3 (B) Question not attempted.
G AFAE@IH & é_%' { 81. Match the following Koshas ‘with

their corresponding health
81. Triafea &N &1 % Wiy g | distuibances :

Tes & a A : ‘ | :Kosha Health
- : |_Disturbances -
bk R TgEgl : 11. Annamaya |A. Agitation,
1. a=FE  |A e, P, (i 1 Kosha | Tirvitability,
£ ' i o Disturbed
t j 3'?13:3 A, i _ | _mood, Anger
2. UWEE | B. 9iE W 9 d9€rdall 2. Pranamaya |B. Problems
o s 1 Kosha i relatedto
s G L : ; breathing such.
EI L T T .
3. mrE | C. vt enet Sa| | hyperventilation
' : i 3. Manomaya |C. Physical
S IhH i | XKosha problems such
4 Tommma |D. @t v TEE, |3 as fatigue
. : frtr S = 4. Vigyanamaya|D. Poorattention
| o, fria : Kosha concentration, |-
! & H memory,
= i . decision making
i fegmrefomraii 7 SR ST Choose the correct answer from the

) 1-C,2-B,3-D, 4-A
@ 1-A,2-C;3D, 4B
® 1-B,2-A,3D,4C
@ 1-G,.2-B,B-A 4D

) ARG I

options given below:

() 1-G,2-B,3-D,4A

lﬂA 2-C, 3 D 4-B

® 1B, 2- A 3 D 4-C

@ 1-C, 2B, 3-A 4D

(3)] 'Questmn not attempted .
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82.

83.

i 84.

According to Hathapradipika,
Mahamudra is beneficial in which.
diseases ?

Insomnia

Indigestion

Skin disease

Respiratory disease

AW&B @ ®&E©)
O&D) @ @&

Question not attempted

Whlch of the following statement
gbout the’*Chakras is incorrect ?

(1) Vishuddhi chakra deals with
personal security, material
possessions and sexuality.
Manipura chakra deals “with
personal power, dynamic
action and self-esteem.

@

@) Anahata chakra deals ‘with
love, ;compassion-and ‘emotions.

€Y A]na chakra deals with
intellect, intuition, wisdom
and psychic abilities.

(5) Question not attempted

Which of the following statements

are correct ?

(i) ‘Shavasana’, Voganidra’ and
‘Pranayama are helpful in
stress related disorders.

{ii) Shitli pranayama is

"~ recommended in <case of
chronic peptic ulcer.

(i) Shavasana is not a
recommended practice in case
of hypertension.

(iv) Chakrasana and Matsyasana
are recommended in case of
‘bronchial asthma.

w) Fatty foods are recommended

" in case of heartrelated
disorders.

Options :

(1) @), (v) and () only

(2) (@, (D, (iii)and (v) only

®) @, (il) and (iv) only

L@ (), (i), @) and (v) only

(5) Question not attempted
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85.

86.

87.

Low levels: of which-
neurotransmitter is associated
with  depression, leading to

symptoms like mood downswing,

disturbed sleep and decreased
Tibido ?

(1) Dopamine

(2) Glutamate ¥

(3) Serotonin

(49 Norepinephrine

(B) Question not attempted.

‘Which ‘ofthe following is not-one of

the types of bipolar disorder ?

(1) Bipolar disorder with. manic
symptoms
(2) Bipolar disorder with

depressive symptoms
Schizoaffective disorder
Cyclothymic disorder
Question not attempted

6)
@
)

Which of these statemients are true
about Asanas ?

() ‘They break the vicious circle
created by mental and
emotional tensions which,
produce abnormal posture.
Asanas develop physical
relaxation, which then relaxes
the mind.

They unblock energy that has
‘been ‘caught up’ in tense
muscles and joints.

They help to balance the two
hemispheres of the brain.
They increase endorphins, the
“feel good’ peptides.
Options :

{iD)
(iii)

(iv)
)

G

() @, (iiyand (i) only

@ (i), (iii) and (iv) only

3 @ (i) and (iv) only

@ ©, ), (1), (v) and (v)
(®) Question not attempted .
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' B8.

i 89.

90.

91.

According *to ‘the Bhagavad Gita,

which term. is used to describe &

person with a stable and serene mind
amidst challenges and changes ?

(1) EKhyat1 {2) Sthithaprajna
(3) Buddhi (4) Samastithi

(5) 'Question not attempted,

According to Patanjali Yoga Sutra,
what is the meaning of “Tato
dvandva-anabhighata” in rélation
to the &ffécts of asanas ?
(1) Ttdecreases physical endurance;
(@) It increases flexibility of the

2 g

spine.
@F Tihelpstoovercome fhe conflicts.
4 It improves cardiovascular
health.

{5) Question not -attemﬁted

‘Which of these is most accurate
statement about yoga as a
therapeutic approach ?

(1) It is effective for all physical

ailments.
) It 4s not suitable for any
medical .condition: v

(38) It has proven remedial effects
but has limitations.

4) Tt is comprehensive =and
coversall therapeutic needs.

B5) Question not attempted

‘Which of the following statements

best describes the 1elat10nsh1p

between stress and the immune

system 7

(I) Stress has mno significant
impact on the immune system.

{2) Stressful environment is the
only reason for mental illness.

- (3) Constantexposure to stress can

‘weaken the immune system.
(4) Stress only affects wmental

health and not physical health.
(B) Question not attempted.
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92. Deregulation of which
neurotransmitter may lead to
psychiatric disorders such as

93.

94.

95.

96.

schizophrenia, Parkinson’s disease,
depression and suicidal thoughts ?
(1) Serotonin (2) Dopamine
(3) Glutamate (4) Acetylcholine
(6) Question not attempted

According to Gherand Samhita,
which of the following principles
are emphasized before practicing
pranayama ?

(1) Pratyahara

(i) Kaal

(iii) Mitahaar

(iv) Akaashi Dharana

(v) Nirvikaar Dhyaan

Options :

(1) (@), (i) and (i) only

(2) (1), (iv) and (v) only

(3) (i) and (iii) only

(4) (@), (ii) and (v) only

(5) Question not attempted
According to Gherand Sambhita,
which Ritu (season) is suggested to
begin Yoga practice ?

(1) Grishma (2) Sharad

(3) Varsha (4) Hemant

(5) Question not attempted

e Aaeme g e |
AR Saereriopfosrerr =1 Ryeafa 1)

As per Gherand Samhita, which of
the below options is the answer for
the blank ?

(1) Dhynaam (2) Yogam

(3) Mitaharaam (4) Mantram
(6) Question not attempted

How did Hans Selye define the

stress ?

(1) The body’s specific response to
any demand

(2) The body’s general response
to any situation

(3) The  body’s non-specific
response to any demand

(4) The body’s adaptive response
to daily routines

(5) Question not attempted
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97.

g8.

99.

100.

According to Gheranda Sambhita,

how many types of B8ahit
Pranayama are mentioned ?

(1) 3 @2 4

3 1 4 2

(6) Question not attempted

What is the pranayama called that
is performed with Bija mantras ?
(1) Vidhivat Pranayaam

(2) Nigarbha Pranayaam

(8 Nirvikalpa Pranayaam

(4) Sagarbha Pranayaam

(6) Question not attempted

Which of the following Yogasana
are of Twisting type ?

(A) Matsyendrasana
Tadasana
Bharadwajasana
Chakrasana

(A) & (B) are correct.
(B) & (C) are correct.
(A) & (C) are correct.
(C) & (D) are correct.
(5) Question not attempted

Match the following :

1. Annamaya |A. The layer of
Kosha breath or vital
’ energy

The sheath of
bliss and
transcendental
awareness

2. Pranamaya |B.
Kosha

3. Manomaya |C.
Kosha

The physical or
food sheath

4. Vijnanamaya |D.
Kosha

The layer of
intellect and
wisdom

5. Anandamaya |E.
Kosha

The mental
sheath,
encompassing
mind and
emotions

(1)
)
(3)
(4)
(5)

1-D, 2-C, 3-A, 4-B, 5-E
1-A, 2.B, 3-C, 4-D, 5-E
1-E, 2-D, 3-A, 4-C, 5-B
1-C, 2-A, 3-E, 4-D, 5-B
Question not attempted
40




101. T3 Hgar = AR I IES IR - :JOI According to Shiv- Sambhita,
] i Madhyama Sadhak is entitled.for :
() =AmMSH (2) TEEANS : (1) Ijz[antlanga
‘ _ A {2) Layayoga
B WANF (9 ITNINH ; @ Hathayoga
(G) ARG (9 Raja yoga ‘
H (5) Question not attempted
102. Fr=eh BTt Ll ; 102. Select the correct: sequential :order
(1) o, SFEG, Avgy  EMR, of the Sapt Chakra (seven.-chakras).
* R (1) Ajna, Anahata, Manipura,
foge, = - T Muladhara, Vishiuddha,
(2) FAMK, WiNEE, AvE SR | - Svadhisthana, Sahasrara
' ' ‘ (2) Muladhara, Svadhisthana, )
foge, mm, weam. £ Manipura, Ariahata,
3) IEETE, wIftiEE, W, oFEd, | Vishuddha, Ajna, Sahasrara
© > A : 3) Muladhara, Svadhisthana,,
i, foee, ween i Manipura, Anahata, Ajna,
s S Vishuddha, Sahasrara
(9 TR, S, TGS, ST |y gohocrara, Ajna, Vishuddha,
WIEH, TR { i Anahata Manipura,
. ) — i Svadhlsthana "Muladhara

B) Question not-attempted

According to the Hatha Yoga
Pradipika, oné¢ should practise
Nadanusandhana with the help of*

; 103.

' < (I) :‘Bhambhavi Mudra  and
T) s ggrsiagEe Padmasana
W EET. o _Elﬁ ; 2) Khechari Mudra and
(2) EIl gET3TR I r. Padmasana .
' . H (8) SBhambhavi Mudra  and
@) TR g AR g i ' Muktasana -
@ SEiEei g (@ Khechari Mudra and,
S »gﬁT ’ Muktasana
{&) HAFAIH \_E_ (5) -Question notattempted -

o . .. 104. The position of the ‘samaan vasayu*
104. T =g it sk oo Arasfra e 2 is related to which chakra ?

(1 ) - (o (1) Ajna
(1) ST @ TER, 1 @ Muladbar -
@) wsH {4 R (3) Svadhisthan ‘
) ; (4 Manipura .
(B) JEARAHA ? (5) Question not attempted )

&
[+
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105. 0z AfEars IgEREIn F R TR E 2
@ 5 © 2

"105. According to Gherand Samhita, how

many types of Dhyaan ave there ?

EfEE D 5 @ 2
@ 6 4 3 @8%% @ 86 4 3
G) Igdid uH ; () Question not attempted
. e o } 106. According to Hatha Yoga Pradipika,
106. ?3&” ' 5 355“[—&':” =1 , Bhedan of all the three granthis can
e e gMAT T R ST Ehal § 7 be done by which practice ?
(1) W (2) xff%:ﬁ’ﬂ (1) Moéolbandha (2) Bhastrika
‘ . (3) Amroli 4) Khechari
@) et (9 &l (5) Question not attempted
®) IgalaTA i 107., According to Hatha Yoga Pradipika,
& lﬁ TN which of the following is not
107. T4 S S SERIN T included in Pathya (accepted food) 7
o T o wEAa TS R 7 . {1) Dugdha (2) Navaneeta
O 3@ @ T i (3 Chrita (4 Takra
5 @ T i (6) Question not attemptéd
©) = , N i 108. Which of the following Yogic
(6) gTia I _ practices have direct impact on
108. Frfoftea 3 3 9 ¥ s v w7 | Loyeoldgland?
‘ N - T i (1) Padmé&sana & Sldd’hasana
TRRTES SR S HMTAAE 9l % 1 i (2) Sarvangisana & Matsyasana
(1) TRHET IR (8) Tadasana & Vrikshasana
(@) TR ST e i (4 Tratak &Dhauti
e 4 (5) Question nof attempted
@ d 1 109. Match the following stages
B g
(), FRsIARA - (Avasthas) with their
(B) AgdaiauE coreesponding ‘Granthis as per
; Hatha™oga Pradipika :
109. 9n Pl F ageR TefeReg " Column-A Column B
mmmmmﬁﬁmﬁ {Avastha) {Granthi)
e A { ATaeri) . | -1. Arambha |A. No Granthi
FW-A (sE) wH-B (ﬁﬁl‘) Avastha Bhedan
L. AT AT A BRACATTE | 2. Ghata B..Vishnu Granthi
2 e IERT B. 'ﬁ'@ﬂy@ ﬁ-a:[ : Avastha Bhedan
‘ T S 3 1 |3. Parichay |C. Brahma Gianthi
3. WA | C. 5@ el Avastha Bhedan
4. frefasmen| D galRag 4. Nishpatti |D. Rudra Granthi
O 1A 2 3B, 4D Awvastha Bhedan
2) 1-G,2-B,3-D,4-A 0 1-A, 26,38, 4D
( » 2-B, 3-D, 4 . @ 1-C.2B.3D,4A
(3 1B,2:C,3-D,4A @) 1B,2-C3-D,4A
(4 1D, 2-A,3B,4-C (4 1-D,2-A, 3-B,4-C
B) IgaigyH . (5) Question not attempted

e T R S £ i ot T
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114. 5w o ®
() Wfaaa
@ iR
(6) FAFIRTTH
115. TH A= AT paama Srar 8 7
() O4AdwE (2 08iFE
@) 073 (@) 09IFE
(G) G T
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117.ﬁ:=ﬂ%fﬁ§aﬁ%a%=rq{%ﬁn%q$r%w
THE?
() EIAETS
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118. mm%ﬁmaﬁ?aﬁawﬁ% ?
(1) HeEE
(2) TN EEH §
() TFEHIACHTACSE EE
COR: s i T
B) IgaRg I B
119, TR 5T (Hies) Sraefisaeas: |
O waimegs (@ folwsae
@) ufeaagt (4 =Y
B) HAgAraIH
120. Fefafea d s afrsfimsEdr 2
(1) fsimre s
(@) HEE SBT3
@) FehizEms e
(4 I
(B) SRR

@ zwhEE E
@ wEEE o
é

(2) wEIEeEd
4) 9SS

-

2) 99
(4 ofEeH

T LA PE. Sn

R PRI TR e

A TR« T S e etu s amran ¢ B e T

i 114. The Btk cranial nervé is
(1) Facial (2) Trigeminal
(8) Trochlear (4) Abducens
(6) Question not attempted

i 115. How much time heart cycle takes ?
(I) 0.4seconds {2) 0.8 seconds
3) '0.7seconds (4} 0.9 seconds
®) Question not-attempied

116. Which :endocrine gland acts as a

primary relay station for a
majority of sensory impulses ?

{1) Thalamus

(2) Hypothalamus

(B) Pancreas

4) Thyroid

(5) Question not attempted

117. Which of the following is not a part

of the brain stem: ?

(1) Midbrain (2) Pons

(3) Medulla (4) Cerebellum
(b) Question not attempted

118. Which hormone does the placenta
secrete the first ?
(1) Progesterore
{2) Taiteinizing hormone -
(3) Human Chorionic
Gonadotrophin
(4 Oestrogen
(B) Question not-attempted

t 119. The mature follicle is alsocalled as :

(1) Primary follicle

(2) Secondary follicle-

(3) 'Graafian follicle

@ Owa

(5) Question not attempted

i 120. Which of the following is a function

of kidney ?

(1) Production of Eryfhropoietin,
({2) Production of Angiotensin
(3 Production of calcitiiol

(4) All of these .

(5) Question not attempted
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121. 95U HAR ATRISH ATV § 121. Thetoughest brain coyer is :
(1) TEFIES T f f (1) Arachnoid mater
@ = . (?) Duramater
(3) TS ' " (3)- Piamater
) i ). -All are equally tough.
@ whERTTaseRe] i ®) -Question not-attetiipted
®) ST IR ]

4 E '122. The proprioception refers to
122. MR s areed 3 (1) Mauscle contraction

(1) W‘Qﬁﬂiﬁ[ﬁ (2) T;mﬁﬂﬁlﬁﬂ'r (2) Muscle relaxations

@ e @) FEEE Ei; ﬁuscie seﬁse - .
Eﬂgﬁf{ﬁ ) [« uscle collapse

(5) = 5 N ()] Questlon not: attempted .

123. £ % 5. g 123. Platelets play an important role in:
AN ’ . f (1) Hemolysis {(2) Henithoeisis

D %ﬁﬁ’fﬁﬂ (2) %ﬁﬁm i (3) Hemostasis 14} - Hemoglysis.

@) Tl 4 _ AR A i (5) Question not attempted

@) g ) ; 124. Circle of Willis is an- anastomosis
124, fofsa s TaafEA sTameAs i of blocd vessels inthe :

(1) bk 2) s o i (1) Abdomen (2) Brain

AR D { (3 Lungs @) Heart

g; ' 1:[ - ) = : (5) Question not-attempted

125. Name the layer which contains
many blood -véssels and ‘looks

) 12 T BiMr ol

125. 3T U =T TH Fd58 (S8 SR IFH

T AR A W SiTeEd g : bluish in colour.
(1) =REE @ Yem (1) Choroid 2) Retina
(B) W @) g i (3) Sclera (4). Conjunctiva
(G) IHANGIH f B) Question not attempted

126. sl d%1 og & FEbn e § : 126. Peripheral nerve fibre constrictions
AFHETDIFATHETE 7 i at regular intervals is known-as
(1) =EES (I) Schwann’s segment EE
@) Frgu e TR i (2) Nodes of Ranvier ’"‘5?5""
B8) UieEH ; (3) Perikaryon

Elicice : (4) Perineurium

g A § (5) Question not attempted

127. @5t ik oy > % afers %5 127. Coughing andhsn;ezii‘ngh :ce?tllies are
SRRy - - present in which of the” following
RUER T 2 parts of the brain ?
@) SRE‘!E @) @T (1) Front lobe {2) Medulila
@ @ , Team i (3) Pomns (4) Mid Brain
() SHaawE (5) Question not attempted
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65) gaia t

¢ 128. What 1s

A VA I £ L BB ELTY SV BT Y W T

red Kmrel

1.

CYCTE PRI e Y

i 129.

130.

131.

132.

the

the -structural =and
functional unit of the kidney ?

(1) Glomerular capsules

(2) Nephron

3) Neuron

(4 Axon

(5) Question not attempted

‘Which hormone plays a role in

increasing appetite ?

(1) Leptin (2) Ghrelin
(3 Insulin [Eh) Glucagon
5) Question not attempted’

‘Which of the following is an
antioxidant

1) VitaminB (2) VitaminD
(3) VitaminE (4 VitaminBy,
(5) Question not attempted

The composition of the exhaled airis:
(A) Nitrogen —78%

B) Oxygen—21%

(C) Carbon dioxide —0.03%

(D) Other gases — 0.93%

Choose the correct answer from the
options given below:

1) (A),.(B)and (C) are correct.

@) B), (C) and (D) are correct.
B) (C), {D)and (A) are correct.

) All ofthese

{6) ‘Question not attempted

Which muscular sphincter
regulates the flow of chyme into
the small intestine ?

(1) Upper esophageal sphincter
{2) Lower esophageal sphincter
(8) Urethral sphincter

(4) Pyloric sphincter

(5) ‘Question not attempted.

Which ovarian hormons ‘promotes
formatien of the female
secondary sex characteristics ?

(1) 'Estrogens

(2) Progesterone

(3) Follicle-Stimulating Hormone
(49 Luteinizing Hormone

(®) Question not attempted
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135.

136.

i 137.

138.

139.

140.

important-in body immunity ?

{1) Eosinophils (2) Iymphocytes
3) Neutrophils:4) Monocytes
(®) Question not attempted

Which body organ plays the.main
role in producing plasma protein ?
(1) Liver ~ (2) Pancreas

(3) Thymus 4) ZKidney

(5) Question not attempted

‘Excitability is velated to which of
the following*issuesin the'body ?
(1) Bone (2) Blood

3) Caltllage (4) Muscles

B) Questlon not attempted.

“Acr omegaly:' is caused by —
(1) 'Excess T.S.IL

(2) Excess adrenaline

(B) ¥xcess GH

(4 Excess ACTH

(5) 'Qilestion not attempted

Ingestion process takes place in —
{1) Btomach

(2) *Sinsll Tntestine

(3) Large Intestine

{4) Mouth

{B) Question not attempted

The popular “fluid mosaic medel”

explaing the structure of which of
the: followmg part in a cell 2

() Nuclear Membrane

{2) Plasmia Membrane

(3) Blood Plasma

(4) Cytoplasm

(6) Question nof-attempted

What are the three main parts of

the axial skeleton ?

(1) Skull, vertebral column and
thoracic.cage

(2 Skull, velteblal
pectoral girdle

@) Skull, vertebral

@

@)

column,

column,
pelv1c girdle

Skull, pectoral gndle pelvic
-glrdle

Question not attempted
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141.

i 142,
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145.

Muscle Fatigue’ stands for what ?

(1) Inability to contract

(2) Excess fat in muscles

(3) IExcess fat deposition between
muscle layers

(4) Low level of fat 10 musclés

{5) Question not.attempted -

Select the correct arrangement of

alimentaty canal -

(1) Ileum — Transverse colon —
Ascending colon: — Descending
colon —Rectum

(2) Transverse colon — Ascending
colon. — Descending colon —
Tlleum — Rectum

3) Ileum — Ascending colon —
Transversé colon.— Descending
colon — Rectum

(4 Tleum - Descending colon —
Transverse colon — Ascending
colon — Rectum

(5) Question not attempted

Which is the hormohe secreted

whenever there is less water in the

body ?

(1) GH (2) ACTH

@ LH 4 ADH

(5) ‘Question not attempted

(1) Central
Force

(2) TCerebroSpinal Filament

(3) Cerebro Spinal Fluid

(4) ChiefSpinal Fluid

(5) ‘Question not attempted

Industry Security

Ossification is carriéd out by which.
cells?

(1) Ostepcytes

(2) Osteoblasts

(8) Osteogens ~

(49 Bone-marrow

5) Question not attempted

490

R TP



146. Trafofan vwemed sHtrasi 51 3:1%3,, j 146.-Arrange the irflammatory responses

in their order of occurrence

Hfed Bl o5 shH N SR L

@

147. éHW$vﬂaﬁ%aamntéﬁaﬁﬂmTHFaéﬁﬁ

27

(1)

@
3
€Y
®)

RT3 A o g
<&

T IETSEH B TAEH

@), @, &), @

@, @, O, ® ;ﬁ
®). ©. @), (@) =

@), @, ®), ©

S OGRS

AT TEpT O T 9 3fsta S
dfiFar i = F i wfaen
Trfera it w0 v e wfaen
fafsrargim s a afSa afaen
G RHGR R

148. AIDS I Hads 8

6y
@
)
@
®

149, T 1T 91 9 81 <& e 91 g

27
ey
3
®

150. TRt IReAT SR | > e wm

i SRR g
| AP
N CNHGREZ]

B (2) BEER
TR (4) FauAas!
AN G

= FTRIGE ?

o)

@

6)

@

®)
40

T WP T AT
s dEmT

L T T N T L T g

4270 BN Sk M TR LN L ITINT Y202 a2l STH T S Th TR 8

ot el wd aeet v Tt (T e £ 0L e

taumi 1 D=4

WBEMd 43t widn 2

ek A L e L 4 W

e

Toebiniyy

001004 TWwadi ) N @NEpE LMz

R L A TR T R R R T PP S R o

o]
4

147.

148.

149.

150.

@

(b)
{©
)

Redness
temperature
Pain

Pus formation
Migration of Leucocytes
@, @, ©), @

(a): (d): (C’), (b)

(b), (@), (d), (=)

(a.)-) (d)J (b): (C) -

Question not attempted

and increased

Which type of immunity is gained
by vaccination ?

(I) Active naturally acquired
Immunity

(@ Active artificially acquired
Immunity

(3) . Passive maturally acquired
Immunity

(4) .Passive artificially acquired
Immunity

(B) Question not attempted

ATDS stands for —

{1y Artificial Immuno Deficiency
Syndrome

(@) Adverse Immuno Deficiency
Syndrome

3) Auto Tmmuno Deficiency
Byndrome

@ Acquired Immuno Deficiency

©)

Syndrome
Question not attempted

Which part of ear resembles Snail’s
shell 7

(1)
2
©)
@
®)

Pinna

Cochlea

Hustachian tube
Auditory canal
Question not attempted

Sympathetic stimulation is under
which part of Nervous system ?

D

Peripheral Nervous System
Knteric Nervous System
Autonomic Nervous System
Somatic Nervous System
Question not attempted
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